Final Exam Practice — Physics Name: Ké \‘/
O

Section 1 - Multiple Choice:
1. Subtract and chose the answer that has been rounded with the correct number of significant figures.

40.80 - 14.0
(A) 26

B) 27
26.8
D) 27.0

2. Convert 162 meters to centimeters.

i 62m x 10 cm  _ 1g0,
(C) 16.2cm I

@1 62 x 10°cm

3. Which of the following is a vector guantity?
(A) speed
(B) time
displacement
(D) distance

4. This type of error results from a piece of equipment that is not properly calibrated.
(A) Parallax
(B) Precision
(C) Random

@Systematlc

A beginning runner walks for 3.0 km before jogging for 3.0 km. In the end, the runners GPS
 determined that the sneed for the workout was 2.5 km/h.-Which best describes the runner 's

speed as determined by the GPS?
Average

(B) Constant

(C) Instantaneous

(D) Overall

L

6. Bah cycles from his home to 13 km [S] of his home. After he catches his breath he turns and
cycles 11 km [N]. Calculate Bob's d|sp|acement with reference to his home.
(A) 24 km [S]
(B) 24 km [N]
(C) 2 km [N] \3 'I .

(©)2 km [S]

7. Which of the following describes an object experiencing non-uniform motion?
It is accelerating.
(B) It is traveling in a straight line at constant speed.
(C) It is traveling at constant speed.
(D) It is a satellite orbiting earth.

8. Calculate the displacement of an object with a constant velocity of 4.0 m/s [W] moving for a

total of 7.0 s. - .
28 m [W] d: v at
(B) 4.0 m [W] i
(C) 1.8 m [W] = et %
(D) 0.57 m [W] ~ 28m

9. A ship travels 50.0 km [N] and then travels 30.0 km [S] in 4.00 h. What is its average velocity?
((8) 5.00 km/h [N]

—_
(B) 5.00 km/h [S e
(C) 20.0 km/h [N]] So 30 d=2 km[td}
(D) 20.0 km/h [S]
-
V= 20



10.

11.

12.

13.

14.

15.

The slope of a velocity versus time graph gives:
(A) distance
(B) displacement

(C) average speed
acceleration

Which graph below represents an object moving to the right and speeding up?

(A) (B)
\ \4
.+_
.+_.
t 0
0

(9 (0)

You are running down the road at a speed of 3.0 m/s when you see a dog. Frightened, you

ingrease your speed 1o 7.5 mi/s in 5.0 5. What is the magnitude of your acceleration?

.90 m/s?
(B) 2.1 m/s? A=\, -V, 75-3.0 S
(C) 4.5 m/s? : + = & - i"' z
(D) 6.9 m/s? S

Write 0.00623 in scientific notation.
(A) 6.23x 103
(B) 62.3 x 10?
6.23x 103
(D) 62.3 x 10?

What is the speed of a bicycle which travels 200m in 0.%3 min at a constant speed?

P pzming L85 - 4w

(C) 2m/s?

(D) 5000m vead . 200m | yu
- 449.Ks

What does the area under a speed-time graph regresent?
Distance
(B) Displacement
(C) Acceleration
(D) Velocity



A cart is pushed from rest on a lab bench top and reaches a distance of 1.75 m in a time of

16.
1.25 s. Assuming that the motion is uniform, what is the average speed in cm/s?
P
140 f—
(B) 219 Vad = h75é&m
(C) 1.40 ';' -
(D) 2.19 | 1.2V &
Ve v
17. If an object’s final velocity is 100 km/h and its rate of acceleration is 56.3 km/h?* in 20 minutes,
what is its initial velocity in km/h?

(A) 1026 km/h Dominx_lb . 0.33

(B) 324 km/h V, = Vp -at Lo ™in
81.2 km/h = 100 - 503(0'33)
D) 67.1 km/h
:\oo-lS’-C = ‘&lq
18. A car is going down the road at a speed of 30Km/h. It then accelerates to a speed of 80km/h in
a time of 6s. What is the cars acceleration?
(A) 400km/h/s
(B) 0.12km/h/s o= 8D -30
8.3km/h/s b
(D) 0.0009km/h/s
=
2 -3

19. What is a motorcycle’s acceleration if it starts from rest and increases speed to 16.0m/s in

2.50s7
(A) 40.0m/s?
(® 6.40m/s?
(C) 4.00m/s? 25
(D) 13.5m/s?

A= “'"‘O 6""

-

How long does it takes a car to increase speed from 20.0m/s to 38.0m/s if its accele'ration is

20.
- 3.00m/s*?
(A) 0.167s
{BD%6.005s }. 3%.0- 20
(C)19.3s : 3.00
(D) 54.0s

* 18 b

Section Il - Written Response 7

2for 3.30 s. If the velocity of the object reaches 7.20 m/s

1. An object accelerates uniformly at 1.50 m/s
at this time, what was the initial velocity? What was the initial velocity in km/h?

" 2 - . -

B8 1O Vo Vot 2.2Smjs X 3.6
t: 330s - 7.90 -1.S0(3.30)

Viz ¢ - 7.20 - uag Vv, =8,if{m}k
Vo » 7.20m/s . 2.26 - ,

2. A horse accelerates from rest at 2.2 m/s%. How many seconds would it take the horse to reach a top

speed of 26 m/s? (2)

o= 2.2ms E=Vaz-V
V, =0 a

\Iz= ZGM,S = Z(O'O
t>7 2'2



&

3. A car travels 60.0 km [W] in 1.0 hour, turns and drives back 30.0 km [E'] in 0.50 hour. The car stops
for 2.0 hours and then drives 100.0 km [S] in 1.0 hour.

(a) Draw a vector diagram.
60 b 30‘.“,”
_——-ﬂ 'l
30 ke~ 100K
lookm '
v

(b) Find the total distance traveled by the car.

Azéo-f 230+ 100
4 =190 km

(c) What is the average speed of the car?
t~-l+ps + 2+ 1 = 45

ved _1Q0km | 422 Kmfk

*  ugsh
(d) What is the car’s displacement?
0*+ b2, c? £ o 7- 104.4 kna [sW]
30t 4+ lop? - € 2 e=AT0 900
Q00 + 10000 = c? c= lo%.4 Km

(e) What is the car’s average velocity?

\7:: o \O"‘“q’
V22— = 13,
T as 2 Ke/h (5]

4. Use the graph below to answer that follow.

Displacement Time Graph

1 Displacement (m) | ! To=(-2(x-4)-6)-0
[E]_ 2 2 T OO (DU SO, RO SN TS B - -7
1 sl S — il ——
A -
| B4 e
R I 4 - . HE
7 I 1

(a) Calculate the speed for segment A.

S\O‘)c: %, " l’“li (f;]

(b) Describe the motion for each of the lettered segments.

A: ] l )

B: S—’vpper}

c: _'m\/dlinj Wcs‘l. Constant ve locii\f do home.

<4




